1. $x^{2} - x - 2 = 0$ Compare $ax^{2} + bx + c = 0$ a = 1, b = -1, c = -2Discriminant = $b^{2} - 4ac$ $= (-1)^{2} - 4 \times 1 \times (-2)$ = 1 + 8 = 9 > 0So there are two distinct Real roots. Also $9 = 3^{2}$, a perfect square So the roots are rational Choice D



HMRN: p 27











 $=\frac{x}{(x^2+1)^{\frac{1}{2}}}=\frac{x}{\sqrt{x^2+1}}$

Choice B

$$f(x) = (g(x))^{\frac{1}{2}} \Longrightarrow f'(x) = \frac{1}{2}(g(x))^{-\frac{1}{2}} \times g'(x).$$

In this case the factor $g'(x)$ is $2x$

$$\sqrt{a} = a^{\frac{1}{2}}$$
 and $a^{-n} = \frac{1}{a^n}$









21. $y = \frac{1}{16}x^4 - \frac{1}{8}x^2 + x$ $\Rightarrow \frac{dy}{dx} = \frac{1}{4}x^3 - \frac{1}{4}x + 1$ The tangent y = x + c has gradient 1 So set $\frac{dy}{dx} = 1$ $\Rightarrow \frac{1}{4}x^3 - \frac{1}{4}x + 1 = 1$ $\Rightarrow \frac{1}{4}x^3 - \frac{1}{4}x = 0 \Rightarrow x^3 - x = 0$ $x(x^2-1) = 0 \implies x(x-1)(x+1) = 0$ $\Rightarrow x = 0 \text{ or } x = 1 \text{ or } x = -1$ For x = 0: $y = \frac{1}{16} \times 0^4 - \frac{1}{8} \times 0^2 + 0 = 0$ so y = x + c gives $0 = 0 + c \Rightarrow c = 0$ The tangent is y = x with contact point (0, 0)For x = -1: $y = \frac{1}{16} \times (-1)^4 - \frac{1}{8} \times (-1)^2 = (-1)^4$ $=-\frac{17}{16}$ so y = x + c gives $-\frac{17}{16} = -1 + c \Longrightarrow c = -\frac{1}{16}$ tangent is $y = x - \frac{1}{16}$, contact point is $\left(-1, -\frac{17}{16}\right)$ For x = 1: $y = \frac{1}{16} \times 1^4 - \frac{1}{8} \times 1^2 + 1 = \frac{15}{16}$ so y = x + c gives $\frac{15}{16} = 1 + c \Longrightarrow c = -\frac{1}{16}$ tangant is $y = x - \frac{1}{16}$ (same as for x = -1) contact point is $\left(1, \frac{15}{16}\right)$

Strategy

• Evidence that you know to differentiate will gain you this mark

Differentiation

• Be careful with the fractions here:

$$+ \times \frac{1}{16} = \frac{4}{16} = \frac{1}{4}$$
 and $2 \times \frac{1}{8} = \frac{2}{8} = \frac{1}{4}$

Gradient

4

• Compare *y* = *mx* + *c* and *y* = *x* + *c*. This leads to *m* = 1 for the gradient of the tangent line

Strategy

• This second strategy mark is given for knowing to set the gradient formula equal to 1.

Solving

• Remove fractions first by multiplying both sides of the equation by 4. Although this is a cubic, terms are missing and so is easily factorised once you realise to remove the common factor *x*

Calculation

• This processing mark involves a fair amount of calculation and is gained for clearly stating the possible values of *c*. These are:

$$c = 0$$
 and $c = -\frac{1}{16}$

Interpretation

• With there being three points of contact:

$$(0,0), \left(-1, -\frac{17}{16}\right) \text{ and } \left(1, \frac{15}{16}\right)$$

but only two equations for the tangent:

$$y = x$$
 and $y = x - \frac{1}{16}$

a close examination of the graph shows $y = x - \frac{1}{16}$ is a tangent at two separate points on the curve as is shown in this diagram







HMRN: p 10, p 25, p 50



Strategy

• One solution, x = 2, comes from the factor x - 2 equating to zero. Any other solutions will therefore come from equating the other factor to zero i.e $2x^2 + 3x + 6 = 0$. If your working shows you knew this you will gain this strategy mark.

Communication

• There must be a clear reason for 'no Real solutions'. In this case the discriminant of the quadratic equation is negative. Your working should state this fact quite clearly. The result used is:

Discriminant < $0 \Rightarrow$ no Real roots.

HMRN: p 26-27







Substitution

used.

• replace all occurrences of *y* by *x* 5 in the circle equation

be written as "y = ..." so substitution is

'Standard form'

• reducing the equation to $2x^2 + 8x = 0$ gains you this mark

Solve for *x*

• The common factor is 2*x* with roots 4 and 0.

Coordinates

• Coordinates are asked for not just values of *x* and *y*

HMRN: p 40





y 3x 3

3 marks

y = 3x - 3

HMRN: p 7









5. (b)

$$f(x) = \sin x \text{ and } g(x) = \sqrt{3} \cos x$$
so $f(x) - g(x) = \sin x - \sqrt{3} \cos x$

$$|\text{let } \sin x - \sqrt{3} \cos x$$

$$= k \sin (x - a), k > 0$$

$$\Rightarrow \sin x - \sqrt{3} \cos x$$

$$= k \sin x \cos a - k \cos x \sin a$$
now equate coefficients of $\sin x$
and $\cos x$:

$$k \cos a = 1$$

$$k \sin a = \sqrt{3}$$

$$\begin{cases} \sin a = \sqrt{3} \\ 1 \\ 2 \\ \frac{\pi}{3} \\ 1 \\ \frac{\pi}{3} \\$$







(continued to next page)



